(should be) Game Music
overworld

Jason J

o
g"..r =
Piano ilbgq# L A T g ?IE 3
= = E: 5 5
ﬂ% 4
S -
Kevyboard Synthesizer




3 )

pm_{% == EEEEEEEE EE I E e EE L L PR

# I T T o | F : I
0
i(o)
e/
Synth.

5 )

Pna::-.{bll gbghjii#jijbjh#iijzg

ilL ii ;It — - - "L _.'L
2 T
ié-{n — i - > -!I_‘I_L‘I—I_
o - : . 'ﬁ'

b
\'2'!

Synth. {

0

Pno.% %bghj#i;tiiibjhjjijgi

g l ! } ‘I{ I t | T
- - = e = 5 3
4] _ | ——j
o 1 f i } —1 t — —— i I
= s % = = e e
@ = 2 “g—d—bd =
Synth.  — =
o - -




pm_{% == EEEEEEEE EE I E e EE L L PR

5 = 5 < = = 3 2
Q I 1
{% P~ | 5 i—‘—ﬁ:
e/
Synth.
||Q
o {55 % h;tji';tjiib;th;tzt##% géh;t#*;t#*#bﬁq;tigggg
Q f f 1 n — f T 1 1 f T T T
o - — ] = =======-
Synth.
10 = e e be
pro. %b ;tifi’;t##ib;th;fii#;té
= : : : SIS E S

#aii"f==:|...

LH

Z
2
F
S~
% Q5
|

[F5]



Pno.

Synth.

Pno.

Synth.

Pno.

Synth.

GE = =
e
E. t }I F !! .’ p ——1 T 1 1 1 T t
! ! | I I I - - - o & & &4 &
0 ; !
éE. =I f > =
ef >
1 d |IFIF'II | -
199
@B e 4
e
T e o o o o o o

9

D e
0 ° Qéh;ta#;tw#m;tﬁ?é?
o i : | : i : - -
o d d - - 1 1 | 1
P — T —1 - - = - -..IP il
f)  —
= e
@ - IA -



Pno.

Synth.

Pno.

Synth.

Pno.

Synth.

23 4

gﬁﬁﬁdJ##iﬂsﬁ###%??E%Ji###ﬂsgﬁiﬁsg
E= : : = ! ! ] :

- - =t - - 4 4
ﬁ | e
&— ——be—— —_————
[ e = —
e [ & 1 .—!’ L & 1

1: ¢

=T e %@##i#iii@g#??ﬁ?

—

0 T

= : ===

S .

— - = A — e ——
E— — 7

13 @.Et

SEEEEEE TR T E L e e e
g T T T T | T T

5 - 5 T ¢ e 3
‘:I f r---l — f 1 T | 1 T T v}
b

i
{E = b x i = -

% —_— ;oL 7 Pz 7




Pno.

Synth.

Pno.

Synth.

Pno.

Synth.

29 A

S ggqﬁ#i####ﬁqﬂ#i#%

EECEAEEEL S ELCECE

= : I I T i f I I

- & - - - - = -
Q Ly r___!__-?__1
% ! 5 i—‘—ﬁ:
0y
[}
e — ———h— —r - f = - £

=2 P L— r ; L

RLQ

A= c=EEEFCPE=EEEET)

—= < = = - - = =
Q f F"__l — | T ! 1 1 ! 1 1 |
=== =—S=s=S==s===
(4] -
:VJ F F -

&u ﬁ ¥ ] L I"J 1 1 |r1
339
0 = EEEEE = TIE L e e e
g T T T T | t T T

EES B < =
Q [ 3
% —
e/
0

%!fiii




35 A

Pno. {

CEE=FELEELEEELEECIECT SEEEEEE=CEEETE

2= : : - : : : :
= ! = = = J =
5
% L L
Synth *
ynth. 5
'S‘u
RFQ
Pm_{vga T e it i e s e
¢
i::?n — I - #r___{ 1
{bﬂ - 1 1 >
Synth.
P = =
l‘é}ul'\.

39 A
oo %& EEEEEE FeEL PRI s EEEEE e T B
g T T T -I{ i t T T
T 5 0 = - <
f) mp P um— | __j
A i  E— —1— ! — — i f
+ — J = P b —
@ = J fe @ be . ! !
Synth. A mp P
é - =
e/
mp p



41

pm_{% E==EE R =R EEEIE R SR SR
2= ! : = ! : ] ]
gp - = fm - = -
= = AR
Synth. * PP PPP
g =
&
PP PPP




